Mathematics
Arithmetic: Test 6b
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Arithmetic: Test 6b

1 | 135+5=
7 3 _
2 (907 70°
3 = 573 + 8729
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4 /I x7x4=

5 | 3177x3=

6 | 7.004-0003 =
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7 | 4823 + 3876 =

8 | 203004 -45 892 =

q | 5600 = 700 =
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10 | 3902 = 100 =

11 | 649-709=

1T _
12| 5-7%=
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13 | 898 x 35 =

14 | 4960 = 62 =

@

©twinkl.co.uk. You may photocopy this page. o



Uk.)ll\)
X
o fon
I

15

oo|on
ofe
N
I

16

17 | 562x5=
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18 | 12% of 829 =
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Answer Sheet: Arithmetic: Test 6b

iy

Guidance: Children will have 15 minutes for this test. Long division and long multiplication
questions are worth 2 marks each. For 2 mark questions children will be awarded both
marks for a correct answer. Children may get 1 mark for showing a formal method. All other

guestions are worth 1 mark each.

question answer marks
1 27
2 % or %
3 9302
4 196
5 951
6 7.001
7 8699
8 157 N2
9 8
10 3.902
n 57.81
12 %
13 31430
14 80
15 =
16 =
17 28.1
18 99.48
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